[image: image1.jpg]Zwununnid kU
wpuwuy b
7 U.Upudjutb
,» hnijhuh 2014p

TNwwnghpunanth [ihish prsnpuikinbpe
Opwghpp = SSo/
Ubdubnuip w8 ik 2014
$htwbuwnpiiwh wypnipp Brihlh hunfuguph ook
Qlufwb wowpluyh 5
Uhgulighyy ynnp Qludwh &b [ Quhifwl Clgunikip|
pun CPV < |(pupuguy Uhurjnph| swhiubpp
puuwlunqint |wiubnup wpgn) |dhujopn| ghtp | (gpund) | Lwibwhp
1 3 4 5 6 7
Uypubpbp
30197632|pnnp A4 Snpuunnh BLUZ nnup 2000 160000 80
30197232 prpunyyuburly/wnwquijmn FOUZ hun 80 __ 16000 200
Frnpuymhuly
30199500| nkighuwnp A4 PLUZ hunn 1000 5000 5
BRWWwiwWy,
30197232| wpwgwywp, pnpjw PCUZ (hwwn 500 2500 5
30197231 [$uxy POUZ hunn 9 1800 200
30197330|qulh: PLU2 hunn 1800 1800 1
30197322 juiphy POU2 huin 900 900 1
30199430 upnultbnh prip Qupni ECUZ i 220 4400 20
30197121 |yndquul POUZ wnith 50, 100 2
30199420 [upnultbnh prup FOUZ i 1500 6000 4
39263410]wipwy;, dtwnwnw, (hnpp FOUZ wnuh 150 300 2
39263420 |wipwly, dEnwnjw, iké POU2 nnuh 300 300 1
39263520 |ubinuwly /25ud bt thnpp/ PCOUZ hunn 30 1500 50
30197112[wiphsh wukn PCUZ uinuth 130 1300 10,
30197121 |[yndqunl PCUZ wnnuh 100 200 2
24910000]unuhlid PCUZ hwwn 200 800 4
30192133 |uunnhwinh uph PCUZ hunn 180, 900 5
30192130 |dwnnpwn POUZ (hunn 180 540 3
Uhuwthqulmt qud
30192131 upynn dvunnhwnlikp PCUZ huin 45 1080 24
30192100 |nkwnhlt PLU2 huwin 140 1400 10
30192121 |gqphy unynpuibwi LU hun 100! 7500 75
30192128qphs qiyny FOUZ hunn 100 5000 50
35263200 qpusubiywuiht ghnp FOUZ hunn 400 4000 10
39263200 qpuiubjwluiht ghpp FOUZ huwn 3000 9000 3
39292500 | puilinf PLU2 hunn 90 450 5
30192720{gdwiliphy POUZ hun 140 700 5
30192114 |ljthph puluup PLUZ hunn 200 400 2
30192210]ulyng ukd £CUZ hunn 330 990 3
30192220|#yng thnpp PCUZ hwwn 50 500 10
22817000 opunntnp PCUZ hunn 1000 5000 5
30199231 |5pwip ks PCUZ (huin 35 1750 50
30199232 dpuwip thnpp FCUZ hunn 20 3000 150
30192930 Nunnhs gphsukp/sinphhy/ PLUZ hunn 210 1050 5
22160000 ]pnilyjkwn PCUZ (huin 500 50000 100
22458100| Twinghp b ptnphwlwmghp | FCUZ hunn 500] 50000 100
22458300 | Nwpwninbwlwh pjubly PLUZ hunn 50 25000 500
39263310[opwgnig, ubnwlh PLUZ lhuin 800 1600 %
nuwnwny ujwjwewy,
30234400| wrwlg wnihh, DVD PLUZ hunn 100 2000 20
30234600| 31k PLU2 huin 5500 5500 1
Cwpywlju
wwppunpnudibp
funphpnulgnipmbittph
39121200| ubnuit PLUZ hun 350000| 350000 1




[image: image2.jpg]Uthuwhwh BEGnpuiul
31154000 |ubmguwi uwpp LLUZ hunn 20000 40000 2
39713430 thnpklny PCUZ hunn 80000 80000 1
39121100[gpuuknw thnpp PCUZ hunn 150000 150000 1
32250000 Loounhti hEnujunu FOU2 hun 30000 30000 1
31532700|Lntuunithnth PLUZ hunn 30000 30000 1
42512000[{Onnpuljhy PCUZ huin 350000] 350000 1
Stnbuwhwh wypwipuby
39836000 [wk) POUZ huwn 900 3600 4
39515440 Epunurjwpuignon FOUZ Pl 4700] 94000 20
39839100 |uwnly BCU2 hwn 750 1500 2
39832100] Uwwiuph gl dhnoh FCUZ hun 550 2750 5
39831210 uywuph plwguwh iynipkp U2 huin 1000: 10000 10
31531220 ky. jutfy £OU2 huwin 150 3000 20
31531210[ky.junfy thapp PLUZ hwin 100 1000 10]
39224340 |wnpuinln LU huin 26000] 780000 30
oliong LU hwiin 500 5000 10
39812100|otiong hunawlh POU2 huin 1250 5000 4
44611500|2nh puly PCUZ hun 80000 80000 1
34928470 Lwwiphunh bywbibkn PCUZ huin 20000 800000 40
39113600 Luthwpwl PCUZ hunn 50000/ 950000 19
44110000 |Chiwiynip 1200000
Spwhuwynpunughi
ymipbp,uwppwynpnufubn
9132100|Lklighls PCU2 1hup 500] 990000 1980
34330000| Ugnnuyuihbununfwubn PCUZ 200000
Ownwnipniutkp
Udunitiptlwitph L hwpwyhg
uwnptnh YGpwlnpngqiwl L
50110000 | wwhwwidwh Swewnipjnilitn POUZ npunl 300000/ 300000 1
9310000]t{EYunpwlwhnipynil PLUZ npud 30| 1110000] 37000
9123000 piubwi: qugq U2 ot 132] 1120000 8500
Zhowfunuught b ndgunibph
64210000| thnuwbgiuh dwmuynipymbtky  |peuz npun 1100000| 1100000 1
Onunuhl wowpul
79571000 [wnuynt pymtitkp POUZ hun 60000 60000 1
65110000| @ph pusphunid POU2 npud 864000| 864000 B
M
Swnuynipynil POUZ  [npun 100000] 100000, 1
pEnpEph wilumgnkph
92410000 pudwbinprugpnud roUz npun 220000 220000 1
CEpjujuigmgymlut
79112000 |bwinuynipinitiibp RCUZ npunt 900000| 900000 1
71250000 | 2wipinkquigpnud PCU2 npund 20000/ 400000 20
70330000/ Ulipwind gnijph swnwynipjnil PCU2 npund 36000] 540000 15
ququuwwriwl hwiwGungh
nbfuthywywl uywuwnplydwh
76130000 swrwjnipintGbbn PCU2 npunl 40000 40000 1
O
TNundbbwhubing uwppkph
50313200 wwhujutnfwlb dwouympyniiikp | pouz pund 150000] 150000, 1
unfwupgyuhn
Swnuwynipnibitp £OUZ 320000| 320000 1
Upuwnuiipbp
thonnglkph
45233222| wudwjnuyunnnud wis pu 6000| 3000000 500
\hnnngUERh (niuwnp.
45316110| whgljmgnud e U 5500000| 5500000 1
Uwpqunupngh hunnuwljh
45431100 |Jkpwlinpngnud e pl 1500000| 1500000 1
45212290|Uwpquinuipnh Jkpuibinpngnud  [pous 980000| 980000 1
mnnquwh guitigh
45232120 |ykpwlinpngnud PCUZ gpud 700000 700000 1




[image: image3.jpg]Twawgstnh wunpuunntd,
71242000|dwhiubph guwhwinnud PLU2 unuh 1500000| 1500000 1
Punupuiht qpruwgnt
45236290 |Jkpwiinpngnud PCUZ hwn 995000| 995000 1
34922100|&wbwwwnhbkph bowgdnud PCU2 U 500000{ 500000
Uy Swnwjnipiniiibp PLU2 200000] 200000
Uhgngunnidubip
Ounhllip
Ouwinuihls Ynuynqhghulitp
3121210 (Swnlybwuuljikp) eCOUZ hun 12000| 60000 5
3121200[5winhl(xjupn) PCUZ 500 50000 100
3121200 |bunhly (Ukfuurl) U2 100] 25000 250
Yuiwbg nint/$mpotn/ POUZ 100000 100000 1
Twypntpjul op p?
/$nipokun/ T lecuz |hun 100000| 100000, 1
Cpkluwikph wuwow, op
15555100 wwnuwinl POUZ hun 500 50000 1000
37822300 qnituunp Guilhd FOUZ ninih 1000] 30000 30
Zunpwhwhh op
prupotin/ POUZ  |npund 100000| 100000 1
Uwblwiwndh of
$nuppbn/ £OUZ npud 100000/ 100000 1
15812200 |winpp PCUZL huin 5700 40000 7
15931100 | punfuyuis PLU2 hwwn 1800 25000 14
Spunupubuduph op
15812200 winpp POUZ hunn 6000 6000 1
15931100 | purnduyujis LOU2 huwin 1750 3500 2
Swpbunin
Supbunin Epkn( $nipokn) FOUZ npud 200000] _ 200000 1
24613200] Zpujunmpymi PLUZ npud 200000| 200000 1
18530000/ tfkp-tnnypwily PLUZ hwn 500/ 250000 500
79952000]Uy) Uhgnguinnulibn FOUZ, 500000] _ 500000 1
2909 dSwowympimb _ '01.3.3
30197632|pninp A4 Pnpunh PLU2 hunn 2000 30000 15|
22851000 |wpwquiljup PLU2 huin 100 5000 50
24910000 |unuhlid PCU2 hunn 400 800 2
31531400[owh PLUZ hwwn 5000 10000 2
30192128[qnhy qkjny LOUZ huin 120 1200 10
30192121 |qphs qunhluidnp ECUZ hun 100 2000 20
30237310|pwipuiphe AU npund 40000 40000 1
30234300|CD uljunjwnuly POUZ hun 100 2000 20
30232100(Sushs uwpp /pubpnpu/ PCUZ uinuh 90000 90000 1
Ywphh dEnwnwiwnt
30197111 Yuwuwtn, thnpp £OUZ hunn 150 1500 10
Yunhsh dGnwnwjwnt
30197112|ywuwytip, Shehl POUZ hun 150 1500 10,
39263200 qpuiubywluiht ghpp FCUL. huin 750 3000 2
30199230 |spwip thnpp PCUZ hunn 20 4000 200
30199231 |opuwp uhohts FCUZ huin 28 2800 100
30199232 |5pwip_ ukd POUZ huwn 35 1750 50
39714100 |onunthnjuh: ROUZ g 15000 15000 1
39715250| 1. inupuignighs/wyyhuu/ FCUZ, npud 10000] 10000 1
65310000 EjEypuluintpmis puisfantd ROUZ st 30| 135000] 4500
{Enwfunuwjht T ndjuuEph
64210000| thnfuwligdwl dwnwjnugjniutbp  [POU2 npud 80000 80000 1
Prunwht wrwpt
79571000 [Swinuym pyniilikp RCU2 huitn 80000/ 80000 1
Nunndblwhwibng wwppkph
50313200 wwhwyulufish Swnwnippibkp | £0U2 Awnnuh 40000 40000 1
Puhth punupuyhin U.Upufjub

Qunullitph wuinwautuan Z/% U. Udlwnhuyut

Sfnp hupuepmh &(%Wb U. Aphgnpyul





